1.  Which one of the following is not a work of Savarkar ?
(a) The Indian War of Independence (b) Hindu Rashtra Darshan
(c) India Wins Freedom (d) Hindutva

2. Match the following and choose the correct answer :
(Authors) (Works)

1. Mill a.  The Constitution of Liberty
2. Berlin b.  Liberty in the Modern State
3. Hayek c.  Four Essays of Liberty
4. Laski d.  Essay on Liberty
1 2 3 4
(a) d c a b
(b) a b c d
(c) b c d a
(d ¢ d a b
3. Who among the following has given the concept of ‘Weltgeist’ ?
(a) Hegel (b) Marx (c) Green (d) None of these
4.  Which of the following thinkers called Political Science as ‘Master Science’ ?
(a) Plato (b) Aristotle (c) Marx (d) Bodin
5.  Who said, “Authority is often defined as being power, the power to command obedience” ?
(a) Robert Dahl (b) Beach (c) Simon (d) Maclver
6.  Which is the oldest theory of liberty ?
(a) Political Liberty (b) Civil Liberty
(c) Natural Liberty (d) Economic Liberty
7.  ‘Manusmiriti’ has chapters.
(a) 09 (b) 12 (c) 15 (d) 08

8.  Austinian theory of sovereignty is based on :
(a) Force (b) Democracy (c) Public Opinion (d) Pluralism

9. Who said, “The state represents violence in a concentrated and organized form. The
individual has a soul, but as the state is a soulless machine, it can never be weaved from
violence to which it owes its very existence” ?

(a) Nehru (b) Gandhi (c) Rousseau (d) Lenin

10. Who wrote the book, ‘Principles of Morals and Legislation’ ?
(a) Benthem (b) Bodin (c) Blackstone (d) Burke

11.  Which one of the following event was the protest against the prevailing inequalities ?
(a) Glorious Revolution of 1688 in England
(b) The French Revolution of 1789
(c) The American War of Independence
(d) All of these
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12. The view that “All property is theft” was expressed by
(a) Mill (b) Adam Smith (c) Marx (d) Proudhon

13. The competition to plunder the natural resources of backward countries gave birth to
which tendency ?
(@) Anarchism (b) Imperialism (c) War (d) None of these

14. Which one of the following thinkers considers liberty and equality as complementary ?
(@) Lord Acton (b) De Tocqueville (c) Maclver (d) Machiavelli

15. The view that there is close relationship between justice and liberty is associated with

(a) Marxists (b) Liberals (c) Anarchists (d) Socialists

16. Who said, “Liberty is opposite of over government” ?

(a) Laski (b) Barker (c) Seeley (d) Kant
17. Who said that “Mill was the prophet of an empty liberty and abstract individual” ?

(a) Sabine (b) Wayper (c) Coker (d) Barker
18. Who is the author of “Poverty of Philosophy’ ?

(a) Lenin (b) Stalin (c) Marx (d) Hegel
19. The concept of popular sovereignty was propounded by —

(a) Austin (b) Hobbes (c) Locke (d) Rousseau
20. Who said, “Women hold half of the sky” ?

(a) Gandhi (b) Nehru (c) Mao (d) Marx

21. Which one among the following pairs is correct ?
(a) La Palombara : The Political System
(b) David Easton : An Introduction to Comparative Government
(c) W.G. Andrews : Constitution and Constitutionalism
(d) Jean Blondel : A Framework for Political Analysis

22. According to Talcott Parsons, an individual prepares himself to be active within the
political system by three means only. Which one of the following is superficial view ?
(a) by means of subjective interest (b) by means of training
(c) by means of participation in it (d) by means of his political beliefs

23. According to whom the ruling elite gets and perpetuates its rules by the qualities it
possesses — qualities which are to be either lion — like or fox — like ?
(a) Gaetano Mosca (b) Velfred Pareto
(c) Robert Michaels (d) C.W. Wright Mills

24. Just to explain the behaviourial aspect of the parliamentary form of government, who
coined the term ‘Prime — Ministerial government’ and called the Prime-Minister as an
‘Elected Dictator’ ?

(a) Robert C. Bone (b) Douglas V. Verney

(c) Ramsey Muir (d) Herman Finer
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25. “Today, just as legislature, the functions of the chief executive are too many, but its control
over the government is too less.” Who gave this statement ?
(a) S.Huntington (b) Richand Neustdt (¢) A.H. Brown (d) P.F. Drucker

26. According to La Palombara and Myron Weiner’s classification, the competitive party
system may be categorized into four categories. Which one of the following is incorrect ?
(a) Hegemonic Ideological Party Systems (b) Pluralistic Ideological Party Systems
(c) Turnover Ideological Party Systems (d) Turnover Pragmatic Party Systems

27. ‘Riots’ and ‘Demonstrations’ are the examples of which of the following ?
(a) Institutional Interest Groups (b)  Associational Interest Groups
(c) Non- associational Interest Groups (d) Anomic Interest Groups

28. ““Peace and prosperity are the real pre-conditions for the success of federal government.”
Who said this ?
(a) K.C. Wheare (b) Peter H. Merkl (c) Morris Jones (d) Granville Austin

29. Which one of the following is not a basic element of a party’s organization as suggested by
Maurice Duverger ?
(a) Caucus (b) Labour (c) Branch (d) Cell

30. Which one among the following is not included in the ‘tripartite division of political —
culture’ provided by Gabrial Almond ?
(a) Elite — Political Culture (b) Parochial — Political Culture
(c)  Subject — Political Culture (d) Participant — Political Culture

31. Lucian W. Pye has talked about certain crises in political development. Which among the
following is not related with that ?

(a) Identity — Crisis (b) Legitimacy Crisis
(c) Distribution Crisis (d) Value — Crisis
32.  Which one of the following is emphasized by the post-behaviourialism ?
(a) Relevance (b) Action
(c) Relevance and action both (d) None

33. “A System Analysis of Political Life’ is written by :
(a) D.E.Apter (b) Morton Kaplan (c¢) David Easton  (d) None of these

34. Which one of the following is not an ‘input’ of Almond’s political system ?
(a) Interest - Aggregation (b) Interest — Articulation
(c) Inter — Locking (d) Political Communication

35. Which of the following are the characteristics of political development, according to
Lucian Pye ?
(a) Equality (b) Capacity (c) Differentiation (d) All of these

36. In which country the judges are elected by the legislatives ?
(a) France (b) Britain (c) Switzerland (d) Australia

37. Who remarked that, “if the second chamber agrees with the first it is unnecessary; if it
disagrees, it is pernicious.’ ?
(a) Abbe Sieyes (b) B. Sawer (c) C.J. Hughes (d) De Tocquevelle
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38. The development of administrative courts first took place in which of the following
countries ?

(a) UK. (b) U.S.A. (c) France (d) China
39. ‘Unknown Empire’ is known as :

(a) Political parties (b)  Pressure groups

(c) Regional parties (d) None
40. Who first of all used the word ‘Political Culture” ?

(a) Finer and Sidney Verba (b) Sidney Verba and Lasswell

(c) Almond and Sidney Verba (d) Lasswell and Almond
41. One of the following is not an instrument of political socialization ?

(a) Political symbols (b) Family

(c) Political parties (d) None
42. Which factor plays the most important role in making of political culture ?

(a) Nationstate (b) Customs (c) Beliefs and values (d) None
43. Pressure groups are most active among which of the following countries ?

(a) UK. (b) U.S.A. (c) France (d) Japan
44. The prime minister is the head of :

(a) State (b) Government

(c) Both State and Government (d) Neither State nor Government
45. The writer of the book ‘The Three Worlds of Development is :

(a) Graham Wallace (b) Irwing Horowizz

(c) Talcot Parsons (d) Lucian Pye
46. Input — Output analysis of political system is related to :

(a) Almond and Powell (b) Robert Dahl

(c) David Easton (d) Lucian Pye

47. “The distinction between written and unwritten constitution is one of degree rather than of
kind.” Who said this ?

(a) Garner (b) Wasby (c) Wayper (d) Gilchrist
48. ‘An Introduction to comparative Government’ is written by :
(a) JeanBlondel (b) G.K. Roberts (c) M. Curtis (d) Edward A. Freeman
49. In which country, the executive is not responsible to the legislature ?
(a) Britain (b) America (c) France (d) Russia
50. Whose statement is that, “The king has right to be consulted, right to encourage and right
to warn” ?
(a) Burke (b) Laski (c) Bagehot (d) Maclver

51. What among the following is the biggest hindrance for the formation of sound and healthy
public opinion in India ?
(a) Iliteracy (b) Regional Imbalance
(c) BigFamily (d) Unorganised Market

52. From which constitution ‘The Concurrent List’ was adopted in Indian Constitution ?
(a) Australia (b) Ireland (c) U.S.A. (d) UK.
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53. By which amendment right to property was abolished from the category of fundamental

rights ?

(a) 42m (b) 434 (c) 44" (d) 4s5%
54. Sarakaria Commission is related to :

(a) Decentralisation (b) Federalism

(c) Administrative Reforms (d) Economic Reforms
55. The Right to Constitutional Remedies is in Article .

(a) 33 (b) 30 (c) 31 (d 32

56. “Silent Valley Movement” was related with :
(a) Environment (b) Industrialization (¢) Communication (d) All of these

57. Which one among the following parties, choose not to oppose the Simon Commission ?
(a) The Justice Party (b) The Hindu Mahasabha
(c) The Communist Party (d) None of these

58. Which of the following articles of the Indian Constitution prohibits traffic of human beings
and forced labour ?
(a) Article 15(2) (b) Article 17 (c) Article 18 (d) Article 23

59. Who described Part III and IV of the Indian Constitution as the “Conscience of the
Constitution” ?
(a) Granville Austin (b) K.C. Wheare
(c) Ivor Jennings (d) A.V.Dicey

60. In which year the ‘National Song’ was first sung in the Annual Session of the Indian
National Congress ?
(a) 1887 (b) 1889 (c) 1893 (d) 1896

61. Provisions regarding the powers, authority and responsibilities of panchayats are in which

schedule of the constitution ?
(a) Ninth (b) Tenth (c) Eleventh (d) Twelvth

62. Which one of the following does not come under the Directive Principles of state policy ?
(a) Protection of minorities
(b) Organisation of village panchayats
(c) Separation of judiciary from executive
(d) Promotion of international security and peace

63. The disputes regarding the election of the President are decided by —
(a) The Supreme Court (b) The Parliamentary Secretariat
(c) The Election Commission (d) The Lok Sabha

64. “Directive Principles of State Policy” are like a cheque on a bank payable at the
convenience of the bank.” Who said ?
(a) Pt.J.L. Nehru (b) Dr.B.N. Rau
(c) Dr. B.R. Ambedkar (d) Prof. K.T. Shah

65. The Constituent Assembly for the undivided India first met on :
(a) 6" Dec., 1946 (b) 9" Dec., 1946 (c) 20™Dec., 1946 (d) 23" Dec., 1946

66. The total number of fundamental duties mentioned are :
(a) 09 (b)y 10 (c) 11 (d 12

Series-A 10 GRT



53. g %1 AR forg gened g \iferes 31fYeprl <kt &uft 9 ger feam mam o 7

(a) 4249 (b) 433 (c) 4449 (d) 459
54, TR AN Tr&Eied 2 -
(a) Tl (b) HueE (c) TNTHMS IR (d) 36 IR
55. HdUTH IUARI 1 IRIHR =8¢ 7 3fceriaa # |
(a) 33 (b) 30 (c) 31 d 32
56. YA G TG T THaY AT :
(a) WERUE (b)) SNWAWE () TR (d) Taftg
57. Tea 1 @ fore got 4 A Heftem o1 e 8 s <61 oot femam o 7
(a) ifecq a4 (b) fegmemmma
(c) HR U (d) T 9 g &I
58. 1§ § WRATA GGG &1 H1 31208 A o GeAMIR SR ST o Tfdai-ad il & ?
(a) 3M.152) (b) 3H. 17 (c) 37d.18 (d) 3123

59. fope R A o AWT-111 3R WAT-1V ! “Tfer s 3TTeT” et afifd fhar g ?
(a) foet e (b) .. =R (c) BRI  (d) . s
60. YRAT TP ST & fha a1fties 31ferasm § ygefl IR i i’ =pt T @ 2
(a) 1887 (b) 1889 (c) 1893 (d) 1896
61. Tfgem A form STEE | d=mal Y wfrt, TTepR 3t STReTical o1 IR JTe BT e ?
(a) (b) cEEl (c) TR (d) el
62. T o 9 e T & Hifa fceres aai o 31efim 78 s g ¢
(a) 3TCUTEThI hl T&TT (b) TTH U= T TS
(c) ~ARIATfCTeRT 1 HIFUTICTRT & JIhIRTUT (d)  ST-RTSIT FRaTT 37X il <hl e
63. Tufd o e @ grafd feame) w1 freamon e Smar g -
(a) T AT g (b) TECH TfEeTa™ grI
(c) Tatem s gr (d) HEIT GRT
64. TSI o Hifd F<reh aa sfeh o T 39 I 61 Wit 7, @eht Jram de 6 3=u1 | BrE fean
TR |7 fhem war ?

(a) 9. J.THA. TEE (b) Sf. T TE
(c) Sf. &fl.3TR. 3mega (d) ...
65.  3faTiorg Ja st dfaem T 6t vem daw 53 o
(a) 6 feawsw, 1946 = (b) 9 feamsy, 1946 =
(c) 20 feawsw, 1946 = (d) 23 feawsm, 1946 1
66. HifcTeh el shi el TEAT B -
(@ 09 (b) 10 (c) 11 d 12

GRT 11 Series-A




67. All the cases regarding the interpretation of Constitution can be brought to the Supreme

Court of India under its :

(a) Original Jurisdiction (b) Appellate Jurisdiction

(c) Advisory Jurisdiction (d) None of these
68. The Municipal corporation is created by :

(a) Order of Governor (b) State Legislation

(c) Deputy Commissioner (d) None
69. Under which article the President of India be impeached ?

(a) Article 62 (b) Article 75 (c) Article 76 (d) Article 61
70. Judicial Activism is related to :

(a) Committed Judiciary (b) P.LL.

(c¢) Judicial Review (d) Judicial Independence
71.  Which one of the following is not included in the state list ?

(a) Law and Order (b) Health

(c) Local Government (d) Railways

72. Alongwith written constitution, federalism and fundamental rights, which of the following
enhances a synthesis of both the American principle of judicial supremacy and the British
principle of parliamentary supremacy ?

(a) Bicameral Parliament

(b) Collective responsibility of the real executive
(c) Emergency powers of the President

(d) Judicial Review

73. By the 61% Constitutional Amendment of 1988, which of the following came into force in 1989 ?
(a) The extension of President rule was facilitated upto three years in Punjab
(b) Fixation of strength of the Goa assembly at a minimum of 30 members.
(c) The voting age was reduced from 21 years to 18 years for the centre and state

assembly elections.
(d) All of these

74. Who was elected the Vice-President of the Constituent Assembly of India ?
(a) Dr. Sachidanand Sinha and K.M. Munshi
(b) Sardar Baldev Singh and C. Rajgopalachari
(c) H.C. Mukherjee and V.T. Krishnamachari
(d) G.V.Mavlankar and Rafi Ahmad Kidwai

75.  Which one of the following subjects is not included in the Eleventh Schedule ?

(a) Drinking water (b)  Regulation of slaughter houses and tanneries
(c) Poverty alleviation programme (d) Non-conventional energy sources
76. Judicial Review in India is based on :
(a) Rule of law (b) Precedents and conventions
(c) Procedure established by law (d) All of these

77. Which one of the following is not guaranteed by the Indian Constitution ?
(a) Freedom to move freely throughout the territory of India
(b) Freedom to own, acquire and dispose property
(c) Freedom to assemble peacefully and without arms
(d) Freedom to practice any trade or profession
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71.  Treiiend ® forg Tsa g 6 wnfhe 981 fopen e @ 7
(a) I 3R e o (b) @
(c) TUHI @emEA d) ToE

72. foifea afayum, eeng 3R Hiferes ARt & ar-any T 0 9 = sewen smfes £ =t
T o g qen forea 1 Tudi Tetear o g o T T g8 Taeq il 8 ?
(a) Tg-wreaTenss wag (b) aTEAfI SHRTCTeRT S AT fEH IS
(c) Trgufd sl ATATARTA BT (d) =R gAUEeeh
73. THESH GAYT- HINGA AU, 1988 o TIIeH H 0= H T I 1989 H AR g ?
(a) USTE T TFYTA Qe <hl 31afer ol 3Aferehad o o1 o T sIgr i |
(b) e faerEy 1 *Eag gew g 30 fyffa & |
(c) ?aw%m—awﬁ%ﬁaﬁm%@wﬁmzmﬁﬁwwaﬁaﬁﬂé|
(d)

74. MR i GGYT THT % ITHHTI(T i I T 2
(a) o AfaeH< feisms . gt (b) HiER doied fig 3R . TsrmdTerr=
(c) Ta.H. qEs SiRAE. FomER  (d) S Aacet 3R T 3TEHG fheas
75. et IrgEeEh @ fe 8§ @ o a1 fow aftrfora 7 R ¢

(a) YIS (b)  TUTIATIN TR THINEA AT T 20
(c) THIef 3T iR (d) R-9ITETER Sefl |d
76. A H =ATeh TR e T ST & -
(a) Tafer =1 wmem (b) TG AT JAEHT
(c) Tafer g zenfua ufsren (d) Tgaft

77. FHEH G H H T WAl A Hia9™ o gR T T8 8 7
(a) WA o Y& T g ot o1 Teh—2reh o A 6l Tt |
(b) T TG, ITH S AT I= i T&d=d |
(c) Smiferqut ek & T ST& < o1 T S <ht Tadw |
(d) e oft 3T 31y SHIE™ i LA i T
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78. Which one is not the aim of NITI Aayog ?
(a) Providing free legal aid to the citizens in BPL category.
(b) Elimination of poverty and the chance for citizens to live a life of dignity and self
respect.
(c) Safeguarding our environmental and ecological assets.
(d) Integrate villages institutionally into the development process.

79. The first Lokpal Bill was introduced in the Parliament in the year :

(a) 1971 (b) 1968 (c) 1985 (d) 2001
80. Any amendment in the Indian Constitution can be done as per procedure laid down under
Article
(a) 365 (b) 366 (c) 367 (d) 368
81. How many members were there in the Drafting Committee of the Indian Constitution ?
(a) 05 (b) 06 (c) 07 (d) 08
82. Articles of the Indian Constitution belonging to the Fundamental Rights are from to
(a) 12to35 (b) 14to32 (c) 14to35 (d 12to32
83. The Community Development Programme started in the year
(a) 1951 (b) 1952 (c) 1953 (d) 1954
84. states and union territories have only one member in Lok Sabha.
(a 07 (b) 08 (c) 09 (d 10

85. POTA law was passed and came into effect in the year .
(a) 2002 (b) 2004 (c) 2001 (d) 2005

86. Which one of the following is incorrect about the Government of India Act, 1935 ?
(a) It was enforced in July, 1935 after being signed by the king.
(b) Provinces were without autonomy with respect to subjects delegated to them.
(c) Two new provinces Sindh and Orissa were created
(d) In the Central Legislature, 1/3 of Muslim representatives were permitted.

87. Regarding which K.M. Munshi observed that ‘the rising democracy been stabbed.” ?

(a) August Declaration, 1917 (b) Simon Commission Report, 1930

(c) Morley — Minto Reforms, 1909 (d) Jinnah’s 14 — Point Formula, 1929
88. Who was the Viceroy of India at the time of Cripps Mission ?

(a) Lord Birkenhead (b) Lord Irwin

(c) Lord Palmerstone (d) Lord Linlithgow

89. What is true about the preamble of the Indian Constitution ?
(a) It lays down the fundamental values and philosophical ideas.
(b) It represents the essence of the constitution in written words.

(c) Itis soul and key of the constitution
(d) All of these
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78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

= 5 4 5 w1 e Aifa s w AE T R v

(a) .. ue. Hat & AnTieRT < gud faferes wEmrar ygm S |

(b) TRIS I TUT YAk AT ol THATH T SATHAHHIH ST T STTE TeH
T |

(c) 3ot gaferefta wa urftfeurfashi Suctfeum st Trfera gea S ST |

(d) TorehTe UfsRaT o W1 TEATTA aiich & TTHI <! Tshslgal JEM T |

TECAT AlhUTS faeiTeh Toe § fopd o9 o warfard femam mam 7

(a 19714 (b) 1968 T (c) 19851 (d) 2001%H
A |faer | wiE ot gner =ae T SIFEAT o ST ThT ST Fehal & |
(a) 365 (b) 366 (c) 367 (d) 368

TR Gfas 6 o aftfa o feat de=m 9 7

(a) 05 (b) 06 (c) 07 (d) 08

YA wfarer | Hiferes 31fiepil & T 3resg o THE |
(a) 12935 (b) 14T32 (c) 14935 (d) 12@32

T fershTe TishH T SRy fohe o g3 7
(a) 1951 (b) 1952 (c) 1953 (d) 1954

TSAT qAT Heo 2 TSI hT ATREHT H shael Teh e&T 2 |
(a) 07 (b) 08 (c) 09 d 10

Eirakcarcich H TR TR T g3 |
(a) 2002 (b) 2004 (c) 2001 (d) 2005

TR TehR AT, 1935 % g i a4 s smc @ 7

(a) ST o G EEATeId B o 3T 3 A1, 1935 § AW febam T |
(b) Arafed Yea T o Trary o Yial o ITe S T8 off |

(c) Ty 37 3T — <1 T¢ ITal o1 TS foha TR |

(d) per forefrem 8, 1/3 gftem gfaffit o6 srge= foman |

fora T o <. ww. Hft w1 31fima o foh WA AR s < TR WIehT TRIT |” 2
(a) 3T =YOM, 1917 (b)  ETZHA HHIIH Ufdaed, 1930
(c) Tiei-fir gem, 1909 (d) TS 14— wrder, 1929

foreg firsm < 999 W & TREUT S 9 7
(a) oAEfahids (b) e e (c) T EUHEH (d) s fomferemm

TR Efae™ h e o s A R a8 7

(a) I8 UETVd ool U greifreh frerRi shl SReqd St 2 |
(b) IE Tfae™ & R ! feilga & w@ar @ |

(c) I |faeT <ht SATcHT TUT Hoil B |

(d) =T@ah
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90.

91.

92.

93.

94.

State of Madras v/s Champakam Doaraijan Case (1951) and State of Bombay v/s Bombay
Educational Society (1954) are related with :

(a) Right to Constitutional Remedies (b) Right to Religion

(c) Cultural and Educational Rights (d) Right against Exploitation

Correctly match the following :

(A) Article (B) Provision
1. 245 a.  Supremacy of Union laws
248 b.  Parliament can make law in State list in national
interest
3. 249 c.  Residuary powers given to Parliament
4. 251 d. Scope of law made by Parliament and State
legislature
1 2 3 4
(a) ¢ b a d
(b) d c b a
(c) a d c b
(d b c a d

Which of the following is incorrect about National Development Council ?

(a) It came into existence on 15" August, 1952.

(b) Its objective is to ensure balanced and rapid development in country.

(c) It comprises the PM, all Union Cabinet, CM, representatives of UT and members of
the commissions.

(d) It provides guidelines for the formulation of National Plan.

Correctly match the following :
(A) Article (B) Provision

1 353 a.  Distribution of revenue during emergency
2. 354 b.  Executive power of the union extends to the state
3. 355 c.  Suspension of Article 19
4 358 d. Union to protect state against external aggression and internal
disturbance
1 2 3 4
(a) b a d c
(b)) ¢ b a d
(c) a d c b
(d d c a b

Which of the following is not true ?

(a) The PM is the leader of the House and real executive.

(b) The President shall exercise his functions in accordance with the advice of the PM
and his Council of Ministers.

(c) The total number of ministers, including the PM cannot exceed twelve percent of
total Lok Sabha members.

(d) The President exercises his power of pardon on advice of the Council of Ministers.
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90.

91.

92.

93.

94.

g TS S FUehd SESH foaTg (1951) U1 S TS S S TSeh3Mel HIHTSe!
(1954) 1 TH4 2 :

(a) GAYTHP IUER o TUHR Y (b) @fies AR T

(c) HTEhideh 9 AEAEh TTHR A (d) Sy % faeg TR @

fr=forRaa =1 ot 9a Hifsre
(A) T (B) NTaE

1. 245 a. Al Il ohl Tt |

2. 248 b. T fad B wEe UsT g § I 91 Hehell 7 |

3. 249 c.  3afE wikAT THE I YgH i TS |

4. 251 d.  Tue qen Uy faenten gro fffa e w1 e |
1 2 3 4

(a) ¢ b a d

(b) d c b a

(c) a d c b

(d b c a d

e o @ o Ui forepra ftg SO Ao 2 2

(a) Jg 15 3T, 1952 =i AfCaca § =AY |

(b) 3EehI 32T <1 H Tfera I et fersrra giafvea e & |

(c) 3HH FeE # yamEA, It Hiw Hfee, ger weh, Fgntaa yeu & wfafify qen
AT & T IS & |

(d) TSR AT o U0 3q TN Uy U 7 |

Frafafea 1 g fiem Hifs -
(A) JTTHE (B) TEu™
1. 353 a. AT o SR TS ohl SEan] |
2. 354 b. g sl HIUT Nth T TS doh § foR |
3. 355 c. 3. 19 FH T |
4. 358 d. 9TE AHAU R A IUgd ¥ b g TSH ol
feregor

1 2 3 4
(@) b a d c
(b)) ¢ b a d
(c) a d c b
(d d c a b

fore o @ o fasher w7 R 2

(a) TUHHH T % Jd1 3T IR ShRIUTeish 2id 2 |

(b) Tgufd 3194 el 1 g Bt uftee Td TaTHE & Teg STER S § |

(c) VUEA THa AER 6 ol A& HA KT HWl b SHE Ufava d ek T8l B
=Ry |

(d)  Trgfe & o o1 ST Ttk o1 T we ufte K AR A B R |
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95. The Rajya Sabha is empowered under Article 312 to :
(a) bring resolution for constitutional amendments
(b) form electoral college for the election of President and Vice President
(c) empowered to make recommendations in money bill
(d) create All — India Services

96. Which one of the following about the speaker of the Lok Sabha is not correct ?
(a) He is the ex-officio chairman of certain committees.
(b) He is the ex-officio chairman of the Indian Parliamentary Group (IPG).
(c) When a resolution for his removal is put to vote in House, he cannot cast his vote
(Article 100).
(d) He is constitutional and ceremonial head of the House.

97. Which one of the following is not a standing committee of the Lok Sabha ?
(a) Library Committee (b) Committee on Sub-ordinate Legislation
(c) Committee on Public Accounts (d) Committee on Public Undertakings

98. The appointment of the Chief Minister and other ministers on the advice of the Chief
Minister by the Governor comes under the Article
(a) 163 (1) (b) 164(1) (c) 162(1) (d) 165(1)

99. Which of the following state has unicameral legislature ?
(a) Karnataka (b) Andhra Pradesh (c) Tamil Nadu (d) Maharashtra

100. Article 324 is related to which of the following ?
(a) Advocate — General
(b) Transfer of Judges
(c) Municipalities
(d) Composition, powers and functions of the Election Commission

101. Who among the following has called heirarchy as ‘the scalar process’ ?

(a) Mooney (b) Reilley & Mooney
(c) L.D. White (d) None
102. The ‘Four P’ as basis of organization was advocated by .
(a) Woodrow Wilson (b) L.D. White
(c) Herbert Simon (d) Luther Gulick

103. The author of ‘Introduction to the study of Public Administration’ is
(a) H.Walker (b) Woodrow Wilson (¢) L.D. White (d) Simon

104. Luther Gullick described the scope of Public Administration as POSDCORB. In this ‘CO’
stands for
(a) Corporation (b) Co-operation (c) Co-ordination (d) Company

105. The institution of OMBUDSMAN first came into being in .
(a) Denmark (b) Sweden (c) Holland (d) Germany

106. Which one of the following programmes for women empowerment in Uttarakhand is
centre — aided programme ?
(a) Kishori Shakti Yojna (b) Working Women Hostel
(c) Tilu Rautela Award (d) Nanda Gaura Yojna
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95. 3TITRE 312 % II=HId T AT ! g AR 2 fh a8 :
(a) EAYT TENEET & foTu TEare 1 dehe 8 |
(b) Tl 3R ITEATd o TG o foTu fHate queet 1 TeH T Hehd 2 |
(c) o faerere o Tqfaat JEarfard st dehd 2 |
(d) RIS - G137} T TS HL Tehell 7 |

96. AHAM S TR F IR G T T A R TR TE & 7
(a) o8 Hiqqd il 1 Ted ALA BT 8 |
(b) I8 YRS HEEH THg 1 U T BT § |
(c) DI BIH o ol STe T H JdTd IR STl =, ol 98 3791 9 Tal S1e1 Hebdl & (3. 100) |
(d) % TeH I T Td 3TeiehRl JIE BT & |

97. TARHHT %! T 1 8 B Tk RfueT HH T 7§ ?

(a) IR HH C(b)  Irefie fauma v
(c) rh oiEl HHel (d) i e Tl Bl
98. TTTC o 37Ef1 T=ITel Jeamst 3TR qeawst <l Teite T 311 BT ol e i ¢ |
(@) 163 (1) (b) 164 (1) (c) 162 (1) (d) 165(1)
99, =11 ¥ fore T=a T Uehe? T faemRent 8 2
(a) hAicH (b) Y e (c) diterTg (d) wEwy
100. 31T=¢ 324 fr o @ fopoe orarg 8 7
(a) wRIHE® (b)  ~=TETET o1 ST |
(c) wfEmRfada (d) TS TR <l FLEAT, iRl 3T R &
101. FrAifera o & forem veaa™ I shites ufrar Fam a8 ?
(a) (b) Il IR (c) TAE.w@Ee (d) HIETE
102. J TS o ITMUR o &Y § TR I 1 Tred fopam o |
() FSUfeEd (b)) T =B  (c) T AP (d)
103. S2ISHM ¢ ¢ el AT ufeetsh Ty & o@sh 2

(a) TH. qeL (b) FeU faeem (c) TAEl.=gEe  (d) s
104. T TfeTeh = T YA % &7 b POSDCORB % &9 § =<k foha1 2 | 39 ‘CO’ 1 aredd

2
(a) SHIIRIH (b) HITRIA (c) HIATMEAIN (d)
105. 3TTSHAA 6l TEAT T TAYYH 31 H g3 |
(a) ST (b) =i (c) EIUE (d) S
106. ITTEUE H AfEAT HTTeheh ol 7q T Fanferd TRESHTST /HRishal § § shiF d1 Ush T g
wErfad 8 ?
(a) Topamdt sk Fier (b) HRRA HigeAT HATEH (SEHTEE) TS
(c) iy el TTEhR (d) T TR ST
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107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

Which one is considered to be the best instrument to establish control over the
administration by the public in view of the Government of Uttarakhand ?

(a) Lokayukta (b) RTIL, 2005

(c) Rightto Service, 2011 (d) Legislative Control

‘Public Administration is a detailed and systematic application of law. Every particular
application of law is an act of administration.” This statement is made by :
(a) J.M. Pfiffner (b) L.D. White (¢) Woodrow Wilson (d) Luther Gullick

The organizational unit which has to play the role of planner, adviser, researcher and
co-ordinator is called :
(a) The line (b) the line and staff (c) the staff (d) the executive

The principle of ‘span of control’ means :

(a) an employee should receive orders from one superior only.

(b) the number of sub-ordinate employees that an administrator can effectively direct.
(c) the control of supervision of the superior over the sub-ordinates.

(d) The numbers of people being controlled.

“A corporation is clothed with the power of government but possessed with the flexibility
and initiative of a private enterprise.” Who made this statement ?

(a) President Kennedy (b) President Roosevelt

(c) President Nixon (d)  President Bill Clinton

“Right promotion at the right time is an essential part of the process of developing full
talents of men and women in service.” This statement is made by :

(a) Fulton Committee

(b) Northcote Report

(c) Hoover Commission

(d) Administrative Reforms Commission of India

Who among the following observed that Weber’s ideal model of bureaucracy is not
particularly relevant to the study of developing societies ?

(a) Chester Bernard (b) F.W.Riggs

(c) V.A. Thompson (d) R.K. Merton

“Finance is as universally involved in administration as oxygen is in the atmosphere.” This
statement is made by :

(a) Willoughby (b) Kautilya (c) Dimock (d) Morstein Marx
Parliament exercises control over the public expenditure through the

(a) Speaker of Lok Sabha (b) Prime Minister

(c) Cabinet (d) Comptroller and Auditor General

Which one of the following is important in the concept of Good Governance ?
(a) Sensitivity  (b) Social Security (c¢) Accountability (d) Transparency

“By Classification is meant the grouping of positions on the basis of similarity of duties
and qualification required.” Who said this ?
(a) Pfifftner (b) L.D. White (c) Morstein Marx (d) Dimock
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107. ITGUE I h GIEhI0 H TR WX SHAT gRIT =T wmfid o < fofe fopg wmeq &1 qa
31ereh IUIH AT B 7
(a) CHIE (b) IWA.3ME., 2005
(c) TETHI IAUHR, 2011 (d) Taeamrh fEo

108. e T faf¥r sreran s i fowga we =afeerd €9 8 Sriffa & &1 W 8 | S &
HRTfrd i 1 TeAh T3 Teh THfeh foRaT B 17 I8 e fohereh grT sa fepam T 8 7
(a) I TFER (b)) TAFH. ®WE () TeU faem (d) TR ITh

109. TSATCHS 3ohTs, el AT T, qrmeierd, siaehdl T au-a=eh 61 fiest @1 Fate

AT BIdT 8, HETdl ©

(a) @ (b) TAEES (c) W (d) HEIUTT

110. “Fr=or 6 i & frgra s a8
(a) U HIfteh ol HIH Ush IS ITTURRI T T ITH i MR |
(b) el Shiftiehi <l g T et e yemEehia TR guTet w9 @ fefera st g |
(c) SAefEen o S Ay TRl gry wernfua femror = aftfem |
(d) hififeni <t a8 e foreent e e s @ E |
111. e T8 I8 &1 Th 37ey W&y 2, fSHeh 918 Teenr ht gt a1 f3sf 32 <1 ar=fiermd
TE A I Bt & |7 T8 HYA fhah1 7 7
(a) Tgafd HAEt (b) Tgufd Feldee
(c) Tgufa feem (d) Tgufd faet faetoe
112. “HE 0F W agfa uerafd i 81, Aamd qeut 3T Afgenati s grgut gfawr 1 famma-ufsman
1 Teh HATTIH YT 2 |7 T8 HIT B -
(a) poed Gl (b) FiehIe Tldeed
(c) T AWM HI (d) YR SRIE ek T ST 61
113. T 9 @ fhaa =g gwdeg gehe fopa fob 9e g1 wReqa AiehaamTet o1 31Teet wfomm faeprasfiar
THTS o ST o foTu {9y &9 & Suh T&i 8
(a) TASTE (b)) ThI=Y fo@  (¢) AU YA (d) 3. T
114. “T3me | foa gdeardt w9 @ 34 geer wffrfad grar 2, e gor ararew #§ sAfadis 17 98
TP g HBT T HIA 8 ?

(a) Toersht (b) Hifeca (c) fTemrw (d) W T
115. 98¢ o e § e —o3F I TRi07 €=1itd il 2 |

(a) CHET ITETE (b) wu= A

(c) wbmugA (d) = e e wees

116. HTHA 31 STTLRM o TG (5 H § i H1 Toh HeaqUi [5G 8 7
(a) TogTefierdr (b) W GEEm  (c)  Saledal (d) dRERfar

117. “Tfiertor b1 SIS Shetedi 3R STUfTd ARt hl THIGT < STUR W UG S TG il
7 17 fopem et 7
(a) TU®ER (b) TAL.®E  (c) HIH AR (d) feurs
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118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

The ‘Need Hierarchy Theory of Motivation’ was propounded by :

(a) Maslow (b) Mcgreagor (c) Harzberg (d)  Victor Broon
The term ‘Bureaucracy’ was coined for the first time by .

(a) Max Weber (b) Vinscent de Gournay

(c) Laski (d)  Friedrick

When was the Accounting separated from Auditing in India ?

(a) 1955 (b) 1967 (c) 1978 (d) 1976
According to Max Weber, power has forms.

(@) 3 (b) 4 () 5 (d 6

The First Chairman of Administrative Reforms Commission in India was

(a) Santhanam (b) Hanumantaiya (c¢) Morarji Desai (d) H.B. Kamath

Which one of the following is not among the three relationship in organization enumerated
by Graicunas ?

(a) Direct Single Relationship (b) Direct Group Relationship

(c) Cross Relationship (d) Double Cross Relationship
Which President is known as the father of the ‘Spoil System’ in U.S.A. ?

(a) Nixon (b) Washington (c) Jefferson (d) Jackson
When was the second administrative reforms commission constituted ?

(a) 31 August, 2005 (b) 31 December, 2005

(c) 31 May, 2007 (d) 31 December, 2007

Which one of the following thinker describes administration as “Organization and
direction of human and material resources to achieve desired ends.” ?
(@) H.A.Simon (b) L.D. White (¢) J.A. Veig (d) J.M. Pfiffner

“Good Governance” and “Participating Civil Society for Development” were stressed in
the World Bank Report of the year :
(a) 1992 (b) 1997 (c) 2000 (d) 2003
If the administrative authority within a department is vested in a single individual, then
that system is known as
(@) Commission (b) Council (c) Bureau (d) Board
Match List-I1 with List-II and select the correct answer from the codes given below :
List-I List-11

a.  W.F. Willoughby 1. Principles of organisation
b.  M.P. Follet ii.  Industrial general management
c.  Mooney and Reily  iii.  Principles of public administration
d.  Henri Fayol iv.  Creative experience
Codes :

a b c d
(a) 1v 1 i il
(b) iii v i il
() 1 i iv il

() i i i v
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118. 3RS0 o 3rravgehar @M fagr =1 yfdared foman

(a) HEATA (b)y BETRA (c) FoteRtd (d) foFXsAA
119. T SUchEl” e T TN TIHIET I ot |

(a) BFH IS (b) e () wTEh (d) el
120. YR ¥ TRETh I I TUE0T § el G fehal T ?

(a) 1955 (b) 1967 (c) 1978 (d) 1976
121. B deX % AR WG & JHREM 2 |

(@) 3 (b) 4 () 5 (d 6
122, YR H Y& IR TR & Yo 37698 O

(a) T=FH (b) EIHGRN (c) WNRSH <@Ts (d) TE.E. HEY
123. TR o STTHR T & o1 qeai °, freiferd 8 & s aftrfad 72 2 7

(a) TI Tohel HFeY (b) TCIT TE A

(c) 3ITMe-foe ey (d) T IS -foe Ty
124, T 9 &1 91 Ugdfa 3T 1 wise faed’ & S & T T AT 8 7

(a) Taem (b) aTRFTEA (c) STHLEH (d) Steed
125. Toefi™ sremmEies GER ST <6l w1 e g3 off 7

(a) 31 31w, 2005 (b) 31 femwr, 2005

(c) 31,78, 2007 (d) 31 feE=r, 2007

126. To=ifrd O 9 fre fo=mes 3 TSIEE s “aifeod Iegal 1 UTTH o T are e Hifdes gareaEt
oGS R G’ hI G 8 2

() TATEEET (b)) TAZL®WES  (¢) I.Tfm (d) I, fBER
127. “geme” a2 foee o foe <gfawmft amrfes gurer @ se fava de fard § form o fean w2
(a) 1992 (b) 1997 (c) 2000 (d) 2003
128. U fovm o 3refi Tfe ysmafaes Tifteer wes safts o fafed &1, o 38 saaeen =1 S S 8
(a) ST (b) g () = (d =g
129. -1 1 FEA-11 & e i qen = feu 7 el § 9 Tt 3T 1 =9 i -
-1 -0
a. S%Y.US. faall i Eed % g
b. .4l ik ii. 3RS g yaeee
c. T I A iii. e T % fagT
d. & %I iv. Yereiie TgvE
?:
a b c d
(@ iv i i i
®b) i v i i
(© i i iv i

) i i i v
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130. Who developed the concept of ‘Managerial Grid” ?
(a) Blake and White (b) Mouton and Shophan
(c) Blake and Schmidt (d) Blake and Mouton

131. Match the List-I1 with List-II and select the correct answer from the codes given below :

List-I (Authors) List-II (Books)
a.  Seldon Oliver 1. A power of public administration
. Lepaworky Albert (Ed.) ii.  The philosophy of management
c.  Ashok Chanda iii.  Administration : The Art and Science
of Organisation and Management
d.  S.E. Finer iv.  Indian Administration
Codes :
a b c d
(a) 1iv i i il

by i iv i i
() ii iii iv i
) ii i i iv

132. In India promotion cases of senior civil servants are decided by
(a) The Head Office (b) The Cabinet Committee
(c) The PMO (d) Departmental Promotion Committee

133. Who among the following says that Public Administration includes the operations only of
the executive branch of the Government ?

(a) Luther Gulick (b) L.D. White (c) W.F. Willoughby (d) Marshall

134. The concept of the “Zone of Indifference” is associated with
(a) Motivation (b) Authority (c) Leadership (d) Decision-making

135. Which of the following is a feature of public corporation ?
(a) It enjoys complete administrative autonomy from ministerial control.
(b) It has its own separate budget.
(c) It has complete autonomy in the fund management.
(d) It enjoys the initiative of an entrepreneur.

136. Which of the following is not included in “hygiene” factors in the Herzberg two — factor
theory of motivation ?

(a) Responsibility (b) Salary
(c) Working conditions (d) Company policy

137. The term “Performance Budgeting” was coined by
(a) ARC ofIndia (b) First Hoover Commission of U.S.A.
(c)  Second Hoover Commission of U.S.A. (d) Fulton Committee of U.K.
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130. TorEa “Ye=ehIa Gter” <1 STaemon foehfda i ¢

(a) T AT S{TZE A (b) T AT M 3
(c) &I qurfas (d) T aAT A
131. TEA-1 1 et FE-11 8 S qe = feu 7 el § 9 Tt 3T 1 =9 i -
-1 H=I-11
(IE) (T&h)
a.  Ioed ATt i, o I i Wil
b.  3Tced OUTEehi (FUT.)  ii.  JeYA o1 ¥
c. 39 = iii. TSTET : HSH 9 Y sl el Uel o
d. THZE BER v, YT T
?:
a b C d
(@ iv i i i

() i iv i i
() ii iii iv i

d i i i v
132. WA H 918 <l Haeh! o Ucra(d o ATHAT ol 919 foham Sirar &

(a) HEIEE g (b) HfsHe mfufa gr

(c) dhum.sm. g (d) Taurfrr s=fa wfifa g

133. feifera o @ forem a1 2 Tor i I9mEA & 37atid e O foreisent shael shidTfetent U&T 9
GrafRrd 1 ol GHIEd fohdT ST @ ?

(a) TRRIfTR (b) TA.E. ="
(c) T Th. faatrst (d) wwie
134, “3CTEAT o TREE i TN 61 T4 2
(a) INTONE  (b) TIRBRA (c) Aqad (d) ToE-fmoa

135. T=faRad & @ = we s o w1 @z g 2
(a) W AATCR E @ g yemefes @ g gl g |
(b) 3T YT T T 3T §91¢ BT 2 |
(c) 3 Tfs gerer o 38 ol wamrar €t 2 |
(d) 98 Ueh 3Tt o TUH TgeT HL Tehal 7 |

136. ESia & Teehien RSO fgr o 3tiid “Taoodr” SR § M T g s agi g ?

(a) Ia@lE (b)) S (c) hrd g (d) et A
137. “fIuTe IoIdIehtor shl STaEOT shl Y= | AT T

(a) TIRH. (9Hd) (b) TIH FoR AT (J,TH.T.)

(c) Toefrr ger s (u|.w.) (d) oo |l (2.%.)
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138. Which one of the following was not the recommendation of ARC in India about the
working of public corporations ?
(a) High functionaries should be full time employees.
(b) Secretary of the ministry concerned should be included as the member of the
management board.
(c¢) Internal audit should be made more effective.
(d) All of these

139. “Position Classification” is the classification of
(a) Duties (b) Salaries
(c) Personal status of incumbents (d) Departments

140. The Civil Services was defined as a “Professional body of officials, permanent, paid and
skilled” by

(a) Felix Negro (b) O.G. Stahl (c) Herman Finer (d) E.N. Gladden
141. What is the total number of members / countries of G-77 at present ?

(a) 77 (b) 154 (c) 134 (d) 107
142. Which country is not a member of G-7 ?

(a) India (b) Japan (c) TItaly (d) Germany
143. Which one is not a member country of BIMSTEC ?

(a) Nepal (b) Bhutan (c) Singapore (d) Thailand

144. Which one of the following facts about W.T.O. is false ?
(a) India was the founder member
(b) It is creation of an international treaty
(c) It does not resolve the trade disputes of the member countries
(d) It recognizes the ‘Intellectual Property Rights’ related contracts

145. The headquarter of IMF is in .

(@) New York (b) Washington DC (¢) London (d) Manila
146. Who among the following was not a supporter of ‘Game Theory’ ?

(a) Thomas Schelling (b) Martin Shubik

(c) Charles McClelland (d) H. Raiffa
147. Which one of the following is the most stable factor of national power ?

(a) Leadership (b)  Pubic Opinion

(c) Technology (d) Geographical Location
148. NPT came into existence in the year

(a) 1970 (b) 1968 (c) 1952 (d) 1933
149. Who said that the League of Nations is a ‘Loose Federal Union” ?

(a) Pitman B. Potter (b) G. Hardy

(c) Organski (d) D.J. Hills

150. How many articles are there in the statute of ICJ ?
(a) 26 (b) 111 (c) 70 (d) 76
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138. e Tl it sprifafe o SR & wRd ® €.3TR . < e 7 @ i e SAgEen T8 ot 7
(a) I veTfehITEl b1 qulentiores el BT =TT | o
(b) TR TAT bl Hid TG4 SIS T HeW BT |1y |
(c) AN ITehaTuT SATET YT ST ST AR |

(d) IgaH

139. “Ye-afientur Sffentur
(a) Al Bl (b) Al T
(c) ITTATIH & ITT<heh gl T (d) Tovmn =

140, “TARA, ST ITH AU HIC USSR TR o Ueh eI o € H TIeh Tal <hl TIATST &1 A 8
(a) W@ d (b)) IS WEA () TEABER (d) 3.T9. XA

141. Sfi-77 % $o1 g1 /<N i TAUH H ol g1 foha1 8 ?

(a) 77 (b) 154 (c) 134 (d 107
142. M HI ¥ ‘G-7" 1 GG T8l & 7

(a) WA (b) STH (c) st (d) S
143. 71 5 @ W @1 g forwesh (BIMSTEC) %1 He&d 781 8 7

(a) (b) YeH (c) TemmgR (d) oTEE

144. T, 21370, o faw # 1 qedi @ &9 91 9% 38 g ?
(a) YRA SEhT HEATIH TS T |
(b) T U AT A HI Hi B |
(c) I8 TSH <IN & HEA 3 AT feraTe] a1 e 78 shiar 2 |
(d) IE g graer JTRIepR grawef THeiidl sl Ar=ar T 2 |

145. 371E.U9.U%. 1 T el (I 8 7

(a) “LTh (b) dRFEALSH. (¢) o= (d) W
146. T 5 8 1 “@et g’ <1 wHedsh T8 o1 ?

(a)  oTHE St (b)y @I fersh

(c) Y HehariciUg (d) T IH
147. T o @ o 91 Ugia ks &1 gaifoes i R R 7

(a) g (b) <A (c) SrEnfehl (d) e gfeafa
148. 1. 9. &, = T Afedea 0 I |

(a) 1970 (b) 1968 (c) 1952 (d) 1933

149. forem gt fo Up vu s e dEf gt ® 2
(a) foedg . aiet (b) Tied gt (c) AT=eht d) 3. feem

150. 3TE.E .31, o wferfer o fope srg=e & 7
(a) 26 (b) 111 © 170 d 76
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151. Which thinker has defined international politics as ‘struggle for power’ ?

(a) Quincy Wright (b)  Charles Schleicher

(c) Morgenthau (d) George Catlin
152. Which one of the following is not a determinant of foreign policy ?

(a) Population (b) Geography

(c) Natural Resources (d) Diplomacy
153. How many non-permanent members are there in UN Secretary Council ?

(a) 05 (b) 09 (c) 10 (d 12
154. Non-alignment means :

(a) Neutrality (b) Isolation

(c) Not aligning with any power blocks (d) None of these

155. International Court of Justice is situated in :

(a) Geneva (b) Washington (c) New York (d) Hague
156. Which country is associated with the star wars programme ?
(a) U.S.A. (b) England (c) Russia (d) France
157. After the Second World War, the world changed into :
(a)  Uni-polarization (b) Bi- polarization
(c)  Multi- polarization (d) Loose-bi- polarization
158. The UN Economic and Social Council has members.
(a) 54 (b) 44 (c) 74 (d) o4
159. ASEAN was formed in )
(@) August 1967 (b) July 1975 (c) March 1969 (d) September 1970

160. The CECA (Comprehensive Economic Co-operation Agreement) was formally announced
to boost bilateral ties between
(a) India-Vietnam (b) India-Myanmar (c¢) India-Malaysia (d) India-Singapore
161. The Indo-Nepal Treaty of Peace and Friendship (1950) was criticized by the Nepali
Maoists because of
(a) unequal nature of treaty (b) rising assertion of Nepali identity
(c) policy of equidistance with China (d) All of these

162. Which of the following leaders did not participate in the four continent peace initiative of
nuclear disarmament of 1984 ?
(a) President Raul Alfonsin (b) PM Andreas Papan Andreas
(c) President Zia-Ul-Haq (d) PM Indira Gandhi

163. Assertion (A) : Although China invested large capital in Pakistan, yet Chinese reconsider
their policies which has led to a reduction in the importance of Pakistan.
Reason (R) : The growing Islamic fundamentalism in Xingjiang with collaboration of
Taliban and Al-Qaeda is visible today.
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.
(d) (A)is false, but (R) is true.
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151. e forames 3 St=arigia T i “w1fth & fore ge samn g 2

(a) feFfiTge (b)) =EEIARR  (c) WA (d) SISt heferm
152. TefaRad # @ 9 we foew fifa o1 fufes a8 2 2

(a) SHEST  (b) e (c) Thfdeh EHIEH () el
153. ©xh Uy Go gren uite o foha sreumi ges §

(a) 05 (b) 09 () 10 d 12
154. Te-FRugw € ared § -

(a) e (b) FHIEETE

(c) frtwfeEdasemEiHififa (4 FHIREE
155. AU =AY AIEIA R

(a) Tend (b) @TfmTe | ORGRIEX: (d) zH
156. TR IR UMY & G- frg e a8 7
(a) FTAT (b) FwIUZ (c) ®& (d) W

157. Todi forverrg & Suta fova 1 wa&w &1 mm o
(a) UH-gdiew (b) gyl (c) wgydR (d) Eren-fggeism

158. EIH Y <hl 37Tk ot mnfores uftsg & TER g |
(a) 54 (b) 44 (c) 74 (d) 64
159. ST 1 T4 H g3 |

(a) 3T 1967 (b) e 1975 (c) W& 1969 (d) TR 1970
160. CECA (wferd a11ffer deam @) <hi ariferenies wrwon feuefis greawei o1 sgmen ¢4 & fou

(a) YRA-foRaTm % uea g | (b) WRA-TAMR & T 7 |

(c) YNA-TARRIH A | (d) 9Ra-famE AR |
161. YRA-=9Te ITTf T G |l (1950) 3l Furef HIatranfei § SArerraq i #ifsh

(a) Y 3TEHM Thid hi o (b)  JUTeht TEEH T IUR o1

(c) = Ty augh HIAfd R 18 (d)  FE A

162. 1984 < ATivrehi fereiehtor o =R HeTgId Snfd veet § FeferRaa o o fopg an 7 fewan =1t fomam 2
(a) TFUfd T3S TehIfA (b) WEWHT 3715 9Ty
(c) Tgufa ST-3a-8 (d) o gfen meft

163. ¥ (A) : ITT = 3 arferear # Wikt 40 Fremn feren, ifer =it = sroeft ifoei o qafd=m
Topar TS BT ® T TTfeREdT™ o1 Hewa T2l 8 |
HROT (R) : i o ggdl seatis sgtdn § aifee™ 3 AA-H1Fel 1 81U 3T T
femai @ |
(a) QM (A) 3T (R) T 8, 9T (R), (A) ! T&l AT |
(b) I (A) 3 (R) ¥ &, 7T (R), (A) %! &l A& 1 ¢ |
(c) (A)TER, W (R) A E |
(d) (A)IEIE, T (R) TR |
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164. What is the correct ascending chronological order of treaties given below :
(1) CTBT (ii) Landmines Ban Treaty (iii) Chemical Weapons Agreement (iv) Indefinite
extension of NPT
(@) (v), (1), (D), (iii)
(b) (i), (v), (1), (i)
() (@), (@), (i), (iv)
(d) (i), (i), (@v), (1)

165. Which of the following determinants of Indian foreign policy is not the reason for defacto
recognition of Israel by India before 1980 ?
(a) Economic Factor (b)  Pluralistic nature of Indian Society
(c) Historical tradition of India (d) Ideology of Indian nation

166. Which one of the countries was not a member of the commission appointed by the UN
Security Council to solve the Kashmir Dispute ?
(a) U.S.S.R. (b) Argentina (c) U.S.A. (d) Columbia

167. “Hot Line” in international relations means
(a) Fascimile Transmission Capability to Direct Communication Link (DCL)
(b) To send Graphic material via DCL
(c) Direct communication between Head of States / Governments
(d) All of these

168. Indo — Bangladesh relations have been strained due to one of the following reasons :
(a) Disagreement over the claim of adverse enclaves.
(b) To construct Akhaure — Agartala link.
(c) To setup border market alongwith Bangladesh — Meghalaya border.
(d) Distribution of Teesta river water.

169. Assertion (A) : Each state now goes to great lengths to manipulate media images of the
conflict, and journalists have effectively been transformed from observers to active
participants.

Reason (R) : Media warfare is setting agendas and manufacturing consents.
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

170. Which organization along with US-DFC has announced a USD 41 mn loan guarantee for
rooftop solar projects in India ?
(a) IMF (b) World Bank (c) USAID (d) NDB

171. Which two organisations are planning to launch a platform for advising poor countries on
climate change funding ?
(a) ADB & AIIB (b) ADB & NDB  (c) World Bank & IMF (d) IMF & NDB
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164. Fr=ferfaa et o1 €t s@dT Sioshn SqTsT -

() A& (i) STES g1 Yfde-y 9fy

(iil) T IR HEiT (iv) w.9E. 1 srfaivee foer
(@  (@v), (1), (i1), (ii1) (b) (i), (iv), (1), (i1)

(¢) (), (i), (i), (iv) (d) (), (ii1), (iv), (1)

165. 1980 | Y& WA G SIS bl SReeeh HI=IAT SGH i o 0T § AR fergn Hif 1 s
1w fifepa frefes T 2 2

(a) 3T HRH (b) AR THTS shl SEETE! Fehid
(c) W i Ufcrriaes T (d) W UY i fermam
166. IR fare 1 g1 S o forw wges Ty gren uftwg gry s 3 o fre <omi f & o6 w
HeH 8l ol ?
(a) IYTHTEIAR. (b) Il (c) 3IT4.T (d) HIAfEsT

167. FAUEHE TSI H “Ble T8 o1 ATy @ :
(a) ¥Y FER g (DCL) % G fcehld SEaiawor & |
(b) ST TA. & HTEH W WMiheh A US|
(c) TIST/THRI o THEI o AL T TER-Fag |
(d) T@ud

168. WA SHCATeS el 4 f= 4 fhe T RO A HE @1 8 7
(a) YfcRal T o gral o HUT STEEHM |
(b)  STENI-3TRAAT fofeh o1 fHior BT |
(c) STATCI-TETerd T & fohR T HHTd SToR @1 fohaT ST |
(d) foar 7€ St w1 Sean |

169. U (A) : 39 TS < TuY I Hfean sfaa Fi whl &g a6 ISBIS HAl 7, N THR
e H wfeeren! ¥ Hisha TfawiiEl # qedicl 81 g ¢ |
SR (R) : Hife Fgteft wrfe 1 feu g ggafa &1 fmi e o fi 2 |
(a) @M (A) 3R (R) T &, TT (R), (A) ! T AR 2 |
(b) GHI (A) 3R (R) & &, 9T (R), (A) ! T AT e 2 |
(¢) (A)TT®, W (R) AR |
(d) (AT, TG R)TAR |
170. .09 —S1.U%. 5. o 91 | fohd T 4 WRA H B4 SMETRA SR TRASHIS %1 WIR .09,
41 Terfere ot wfoeg st SO <At 7 2
(a) IARWIE. (b) Fomads (c) I TATE (USAID)(d) TA.EL&f.
171. fora < Tt 3 firetent Soramy aitaa faraer 3 g w e <o i @fat veh 0= o1 Juiy
T ] IS T & ?
(a) TS 3R T.37E. 8.6 (b) TE&. R T.ELH.
(c) Tava g 3 31E. .. (d) 3TE.TH.UH. 3R Tt
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172.

173.

174.

175.

176.

177.

178.

179.

180.

What is name of the programme of WHO, that aims to fund young people’s ideas to
combat COVID-19 impact ?

(a) Global Youth Mobilization

(b) World Covid Youth Response Programme

(c) Global Recovery Youth Programme

(d) Youth World Health Programme

To counter China’s dominance, trade ministers of India, Japan and Australia launched
SCRI. What is SCRI ?

(a) Switching to Commerce Resilience Initiative

(b)  Supply Chain Resilience Initiative

(c) Smart Chain Resilience Initiative

(d) Smart Commerce Resilience Initiative

“Nuclear Football”, which was making news recently, is associated with which country ?
(a) Russia (b) China (c) US.A. (d) France

Which country has become the fifth country to sign up the International Solar Alliance
(ISA) ?
(a) Israel (b) England (c) Germany (d) Australia

The first G-20 cultural minister’s meeting was held in July 2021 virtually due to Covid
pandemic in which country ?
(a) Iran (b) Ttaly (c) India (d) Indonesia

Member nations of IMF have approved the injection of what amount to help countries with
mounting debt and economic fallout because of COVID-19 pandemic ?
(a) $100billion (b) $ 650 billion (c) $ 600 billion (d) $300 billion

The ICT Working Group of India with which country launched a report entitled — “Future
of Connectivity in India” ?
(a) U.S.A. (b) Brazil (c) Japan (d) S.Korea

Who built on Kenneth Waltz’s argument concerning the stability of bipolar system as
compared to multipolar system ?

(a) Stanley Hoffmann (b) Charles Kindleberger

(c) John Mearshemier (d) John Gaddis

Which of the following statement is not true ?

(i)  Security dilemma is an important paradox of the state system.
(i) Arms race increases insecurity of states.

(i11) Arms control is a solution.

(iv) Standing armies contribute to security of all.

(@) (1), () & (iv) (b) (1) & (iii) (c) (i) & (iv) (d) (1) &(iv)
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172. HIIE-19 & J9TT & o4 & T H, JAT AN & femami =1 ferqumer & & e fore fava
L TS (609, T 311, ) o RIS HIFTAH G ?

(a) TAEA I ATATZAIH (b) a2 hifars I feemd wwmm
(c) A el I T (d) IJ¥ IeE god U™

173. < % goes &l AT ¢ o foTT IR, ST 3R 3rieeforan & =R ahe 3 v, . 3. 31,
1 VRY TohaT 2 | I8 TH.H. 3376, 1 3 ?

(a) feafem g wivd e shfmfea (b))  wwms-== i stRtmfea
(c) e =+ faferew shfmefea (d) e Hmd Wi shfnfes

174. “OTHTY] Fearer”, ST &1e & § Wei H gREat 9er @1 o, fope o & gafera g 7
(a) &4 (b) () ZTET (d)

175. FAUEH GR IE (318,05, T, ) 1 S1eR hid J1al Uigdi I = i A g 8 7
(a) TSR (b) gwive (c) Rt (d) 3rrgferam
176. Tp <o § hifde TR 6 HROT STUTTES (ICE) F2m SfH-20 < % TEhia AT 6l
3% I 3TEd ke TR T 7
(@) ¥ (b) st (c) wd (d) 3USHREn
177. 3TE.UH.U%. % & <3 3 IS 19 HEMRI o HRT g hat I M1k Hehe ohl FTHAT L
T8 <11 ST TETaT ohid o T femat emmfsT sh1 31w &g wega fohan 8 2
(a) $100faferm (b) $6s0fafm  (¢) $e600fafermm  (d) $ 300 faferm

178. 9RA < 37E.51. . hried 7 forg <o o @1 firetent ueh faid wentfyra <hi 8, foraent sfises & —
VT T ISRl o WS ?
(a) I.TE.T. (b) ST (c) MM (d) gfegor =it

179. Sgyd =rae o ame fgygef saen £t feorar faweres hier aes o dh T snaria fraq
3T | T fohaT ?

(a) WA EHAM (b) Ticd fhsedax  (¢) W fEEHR (d) < Afsm

180. 1 & & =1 T Hot Wl T B 7
(i) TSI TEAT H GL&TT 1 5 Th Hew@yUl foamvE & |
(i) Y <1 Bl Tl % TN g B & |
(i) & T TH g R |
(iv) <ITHEE qIR A |t <6 e SAfveg I § |
@ (i), (i) 3R (iv) (b) (i) 3 (i)
(c)  (iii) 3R (iv) ) ()3 (iv)
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181. According to Kautilya, which one of the following does not fall under the four main
members of council of ministers called Tirthas to assist the king ?

(a) Mahamatya (b) Purohit (c) Senapati (d) Durgpal
182. Which of the following ideas of Gandhi, Ambedkar did not agree ?

(a) Swaraj (b) Non-violence (c) Trusteeship (d) All of these
183. Which of the following book was not authored by J.S. Mill ?

(a) On Liberty (b) The Subjugation of Women

(c) British India (d) Utilitarianism

184. Which of the following is not the cause of revolution according to Aristotle ?
(a)  The unprincipled character of popular leaders
(b)  When disparity between rich and poor widens
(c)  When the ruling class mistreats the masses
(d)  When the ruler invents terror and brings distant dangers near

185. Which of the following is not correct about the Scheme of education by Plato ?
(a) It was for the Guardian class only (b) It was in private hands totally
(c) It was to make an ideal state (d) It was for making people virtuous

186. According to John Rawls, the primary goods of the people consists of :
(a) Liberty (b) Opportunity (c) Self-respect (d) All of these

187. Which one of the following thinkers emphasized on both the negative and positive sides
for understanding the real meaning of liberty ?
(a) J.S.Mill (b) T.H. Green (c) Isaiah Berlin (d) John Locke

188. According to Manu, how many gods are combined together within the concept of ‘Virat
Purush’ i.e. the Kings ?
(a) 05 (b) 07 (c) 08 (d 11

189. “The earth is our real motherland, mankind our nation and a human government based on
equality of rights and duties is, or ought to be our ultimate political goal.” Who narrated
this statement ?

(a) Kautilya (b) Savarkar (c) Ambedkar (d) Gandhi

190. Who defined the term ‘Law’ by the following definition :
“Law is the expression of the sovereign will in the form of a command of a political
society which gets the natural obedience of its members”.
(a) Mill (b) Bentham (c) Locke (d) Hegel

191. “While the state exists, there cannot be freedom, where freedom exists, there will be no
state.” Whose statement is this ?
(a) Marx (b) Lenin (c) Mao (d) Gramsci
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181. hIfeed o FTIR 7 T & S Teh IR &I HAINEG o &1 i 20t H T&l AT ST UM i
e H & AT FR A E 7 o

(@) W™ (b) Tfed ORELI () g
182. Tiefist o fr fommdi A, traieet fpm foam @ gema & 9 7

(a) TS (b) AfeEr (c) —arEaedr (d) Foeft
183. T 4 & %A € ges 1.0, et gro wei a7

(a) 30 foerd (b)) T HEINH 3% T

(c) Tofew sfogan (d) Ffefrefatrsa

184. T # & o9 3106 o STET, i~ o1 HRUI T 8 ?
(a) EESE AATH 1 SEG R A |
(b) e 3R ug e % sfe STEmE 9 A g |
(c) 19 ITH T T ST § GHTER HLT 2 |
(d) 19 ITH e 1 G L G TR ol Fehew T TR LT 2 |

185, widl i Treft <ht TSt o ferwar & fet o orort oa wel 2l @ 2
(a) OF hacl TL&Th o1 o foTa off | (b) % 9l &9 fsf gt | oft |
(c) TEAH T H Lo ferw et | (d) o8 Tmiient o1 Geroft s o foru oft |
186. I UcH o STTHR ARTH <h fTC T Tgaegsti # Hizd & :
(a) TEQEdT (b) IFTW (c) ATCHIHN (d) Foeft
187. 1 1 9 forg e faaes A Wa=ran & areafaes 312 &1 gagE & fu 38 aHl q&ii-Thicdesh
Te TehNIcHeh | & fean g 7
(2 wwE i (b)) Hwa . (c) sREEEfH  (d) M
188. T o AR ‘Terre Tew 3121 TAT <t TSRO | fehe qardati o1 afte 8 7
(a) 05 (b) 07 (c) 08 d 11
189. “geeft gARI aTEdfaeh S 8, AHaSId R UF 8 3R HATUHRT AT el hl FHEAT T
TR e TR g AT Tiideh @&d 8 AT T I1ET | 30 HH 1 &th i Tt
HAE ?
(a) BT (b) TR (c) 3TEgH (d) TR
190. “fafer sregrarett sht fm it & fere s w61 wftefya fepan € 7
“THI Y < TS 1 I o THM HTARRR &, ek TSI THIS o TG G
TaTHTfeh 31T Hd 8 17
(a) foct (b) s (c) I (d) e

191. “Se d TSY 1 @1 8, q9 deh Sd=Idl sl 3AT&icd el &dl, &l Td=dT [9edH &dl 2,
& T 1 AT T8l BT |7 I8 YA foheeh 8 ?
(a) W& (b) (c) wIT (d) Tmft
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192. Which of the following values is different from the philosophical foundations of liberal
democracy ?
(a) Individual liberty
(b)  Socio-economic justice
(c) Collective ownership over the means of production and distribution
(d) Political equality

193. Match the following :

A (Thinkers) B (Books)
A. Pareto 1. Iron Law of Oligarchy
B. Mosca 2. Circulation of Elites
C. Michels 3. The Ruling Class
D. Schumpeter 4.  Capitalism, Socialism and Democracy
A B C D
(a) 2 3 1 4
(b)) 3 4 1 2
(c) 4 3 2 1
(d 1 2 3 4

194. Who among the following does not follow the ‘ideology of Libertarianism’ ?
(a) Berlin (b) Hayek (c) Laski (d) Friedman

195. “In political activity, ...., men sail a boundless and bottomless sea, there is neither harbour
for shelter nor floor for anchorage, neither starting place nor appointed destination. The
enterprise is to keep afloat on an even keel; the sea is both friend and enemy.....” Whose
statement is this ?

(a) Oakeshott (b) Blondel (c) Easton (d) Merton
196. The concept of ‘Hegemony of Ideas’ is related with —
(a) Lenin (b) Marx (c) Marcuse (d) Gramsci
197. Which one among the following books is not written by Dr. B.R. Ambedkar ?
(a) Who were Shudras ? (b)  Annihilation of caste
(c) Wheel of History ? (d) Buddha and his Dharma
198. Which of the following fact is not correct in the context of John Rawls’ concept of Justice ?
(a) Primacy of procedural justice (b)  Support to communism
(c) Contractarian social philosophy (d) Concern for social justice

199. Which among the following book / magazine is not related with Gandhiji ?
(@) YoungIndia (b) Harijan (¢) Indian Opinion (d) Karma Yoga

200. Which one of the following is not in the ‘felicific calculus’ of Benthem ?
(a) Propinquity (b) Values (c) Fecundity (d) Intensity
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192. fre=ferfiad o @ 1 T1 Ush Yoo ICR AAlchd-l o Qrifeh a8 e 2 7
(a) SAHTT =T
(b) BT -3 =
(c) 3cdTCH Td Toaiur 3h ETEAT W A feeh T

(d) TSI F|ET
193. = o1 goet Shifee -
A (fa=e) B (&)
A T@ 1. 3Acqd= &l g fam
B. Hi&h 2. ANYSE o o1 =L
C. fimem 3. T E[eN FA™
D. i 4, Hiuerfersd, A=y g SHIhH]
A B C D
@ 2 3 1 4
® 3 4 1 2
4 3 2 1
@ 1 2 3 4
194, T 1 € i “W=ad=ard fa=mram i1 gfdf-ice 7&8 g ?
(a) dfeAq (b) TIH (c) <R=ht (d) hremd

195. “TSHIfeh SHRI-helTd H TSI Teh 3TEHW 37 37UTE THg H &R &l &, J&f A s=1d o 70 15
FCUME BT 8 3T 7 R & foTu g omg, 7 IS Irwe WM giaT 8 31 7 & &8 fgifa
T=ied | T8 IEH B THGeH § 0td T | TG i S SR BT R ... 1 T8 U TRERI § 7

(a) IAThIME (b) wATRH (c) w&A (d) A
196. fo=mt <hY S=iEaaT hl STTURON TrafRd & —

(a) AT (b) WG T (c) WHRSH (d) um=fid
197. Trfetiigd @ & i Hi qdeh . o137, 3reigeht g el fotfiad 2 ?

(@) YEHAA? (b) ST =1 3em

(c) e T ? (d) g 3N 3T uH
198. S Tod hl A & AU & o H o d g araea ol a8 8 7

(a) fshaTcHe = Y e (b) ETEETE I HHA

(c) IFHTH GHTS G (d) G =™ § SRR
199. 11 5 @ o o1 /aforet 1 ey i A AR 2 7

(a) I sfoe (b) gheH

(c) 3fvea anfutem (d) HHIN
200. 1 3 @ 1 Teh 972 o “G@eh WU H TE o1 7

(a) @fehear (b) T (c) Al (d) s
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